TannaHruvH 3aasap
(3-0B6-7) MAAI'T HOXOX 3AABAP

A.YHOC3H M3033Nn3n

LOYTAAP BAIAHbIH HOP

1 CypranTblH 6anryynnara
2 Huit cypanuarump,

3 OunnombiH 6onoscpon
4 BakanaBpblH 60noscpon
5 MaructpbiH 60onoscpon

3AABAP

(6araHa A) -L334 60n10BCPOSbIH
CypranTblH YN axunnaraa sapxnax
Tycrai 3eBlIeepPenTali CyprantbiH
6ariryynnarbiH HapuiAr GuyHa. ML
(baraHa b) -MepwitH nac pyraapbir
nyraapnaH 6uyHa.

(6arana 1:3) -35,0 6010BCPONbIH
cyprantbiH 6ariryynnarag
cypanuarygbiH HUAT Toor (6araHa
1)-T, 1934 60NOBCPONbIH CypranTbiH
bairyynnaran cypanuax oy
3parTan cypanuaryabiH Toor
(6araHa 2)-T, aMarTait
cypanuarygbiH Toor (baraHa 3)-T Tyc
TyC BMYHI
6araHal=(2+3)=(4+7+10+13).
Opartait (baraHa 2) -3
60N0BCPOIIbIH CypranTblH
6aiiryynnaran cypanuax 6y
3parTaii cypanuaryabiH Toor 6UYH
b6araHa2=(5+8+11+14). Opartaii
(6araHa 3) -[234 60n10BCPOSbIH
cypranTbiH 6airyynnarag cypanuax
Oyi1 3parTait cypanuaryablH Toor
6v4H3 baraHa3=(6+9+12+15).
(6araHa 4:6) -[AMnnoMbIH
6onoscpong cypanuaryabliH HART
Toor (baraHa 4)-T, aparTaii
cypanuaryblH Toor (baraHa 5)-4,
3MarTaii cypanuarybiH Toor
(6araHa 6)-a TyC TyC 6U4H3
6araHa4=(5+6).

(baraHa 7:9) -bakanaBpblH
6onoBcpong cypanuaryabliH HART
ToOr (B6araHa 7)-a, aparTai
cypanuarygbiH Toor (baraHa 8)-a,
3MarTaii cypanuarybiH Toor
(6arana 9)-a Tyc TyC BUYH3
b6araHa7=(8+9).

(6arana 10:12) -MarucTpbIH
6onoBcpong cypanuaryabliH HART
ToOr (6araHa 10)-T, aparTait
cypanuarygbiH Toor (baraHa 11)-T,
3MarTaii cypanuarybiH Toor
(6arana 12)-1 TyC TyC 6U4HS



LYTAAP BEAIrAHbIH HOP 3AABAP
6araHal0=(11+12).

6 JokTopbiH 6onoscpon (6arana 13:15) - [lokTOpbIH
6onoBcpong cypanuaryablH HAAT
Toor (6araHa 13)-T, aparTait
cypanuarygblH Toor (baraHa 14)-1,
9MArTal cypanuarygbiH Toor
(6araHa 15)-a Tyc Tyc 614H3
b6araHal3=(14+15).

7 byra, (mep 1) -I354 6010BCPONbIH
cyprantblH bavryynnarag,
cypanuaryblH HUAT gYHr 6U4YHS
mep1=(2+3+..).
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